Acc Geom

Quiz Review - Ellipses

Identify the center, vertices, co-vert)\
axis of each. Then sketch the graph.i «
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Center: (—4. 0)

Vertices: (-4, 7)

(~4,-7)

Co-vertices: (-3, 0)

(-5.0)

Foci: (-4, 4'\.’?)

(24, -4~3)

Major Axis: [4 units

\’_I\-Iinun‘\xis: 2 units
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4) x* +49)* ~392y + 735 = ¢
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Center: (0, 4)
Vertices: (7, 4)
(-7.4)
Co-vertices: (0. 5)
0.3
Foci: (43, 4)
(-av3.4)
Major Axis: 14 umts
 Minor Axis: 2 units
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5) x2+4)* +8x+32y+76=0
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Center: {-4. -4)
Vertives: (-2, —4)
(-6, -4)
Co-vertices: (—4. -3)
N O
Foci: (-4 + \"'3. -—4)
(-4-+3,49)
Major Axis: 4 units
s Minor Axis: 2 units
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6) 25x2 +9y* +50x - 18y — 191 =0

1 Center (-1,1).
Vertices: (-1.6)
(-1.-4)
A 1IN Co-vertices: (2. 1)
/ JRY (-4.1)
I AN Foci: (-1, 5)
-1.-3)
-] Major Axis: 10 units
i . Minor Axis: 6 units
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Use the information provided to write the standard form equation of each ellipse.

7) Vertices: (6, —4),{-18, —4)
Foci: (-6 + 211, —4), (-6 — 211, -4)
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9) Center: (0, 4)
Vertex: (—13, 4)

Focus: (—2 \/E, 4)
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11) Vertices: (11, -10), (-15, -10)
Foci: (-2 + 24/22, -10), (-2 — 2+/22, -10)
(x+ 2): 5 (y+ 10)2 _
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8) Foci: (-7, 1+ v/33), (=7, 1= ~/33)
Co-vertices: (—3, 1), (——1 1, 1)
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10) Center: (—2, 8)
Focus: (—2, 8+ \/?(}L
Co-vertex: (—2 +2+V30, 8)
(x+2)° Lo 8)°
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12) Foci: (-9, -2 + V91), (-9, =2 - V91)
Endpoints of minor axis: (-6, —2), (—12, —2)
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